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I solved 9) instead of 10)

10) is solved the same way.
The answer is for 10a) no possible h
and 10b) all h

(-3 O]RF’SR‘, .
0 0
O O h-o

| (-3 [5 { 2486
39 |1-7]=> 0 40 g |R243R, =1
l/' 6 {L } [O 0 L\-/o] R;-20, D
b) Whendoe B o o
(6) “ a8 - 9 -7 cz]= [0] Lavea,howl'r‘v‘aa‘sc»‘-.r"ioh?
2 =& il e o :
| ~3 6% | -3 5 | ~32%8
-zq-‘zj_e[oo 5’—19243?'-—9 00 ||
2 <6 h 0 O h-01R3-2R, O O h-o
has a.POh“ﬁVfﬂjso'U“"Oh ‘Qva-” l-\



Jeffrey Kuan
I solved 9) instead of 10)
10) is solved the same way.
The answer is for 10a) no possible h
and 10b) all h
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